EM 515

Homework 1 - Solutions

3.1-10
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3.4-7
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DUE TO DIFFERENCES BETWEEN THE 7TH AND 8TH EDITION – I GAVE CREDIT FOR EITHER OF THE TWO PROBLEMS LISTED BELOW
4.4-8  

Maximize Z = -X1+X2+2X3

s.t.

X1+2X2-X3 <=20
-2X1+4X2+2X3<=60
2X1+3X2+X3<=50
X1, X2, X3>=0
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Optimal Solution:  

X1 = 6.66667

X2 = 0

X3 = 36.6667

X4 = 50.0 - Slack variable

X5 = 0 - Slack variable

X6 = 0 - Slack variable

4.4-9 In the 7th edition

Maximize Z = -2X1-X2+X3

s.t.

3X1+X2+X3 <=6
X1-X2+2X3<=1
X1+X2-X3<=2
X1, X2, X3>=0
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